Multiplication and Division Practice

Multiplication

23x2= 21x31=
47 x 3 = 43 x 22 =
63x5= 67x13 =
87 x4 = 34 x50 =
342 x 3 = 18 x 18 =
482 x 4 = 24°-

Fill in the squares with the missing number:

| —— I

_______________

A t-shirt costs $45. How much would you pay for 7 t-shirts?
S

Tom went to the fair every day for a week. It cost $19 to get in.
How much did it cost him for the whole week? S
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Division

21+3= 208 -4 =
28 +4= 320+5=
17 + 5= 824 -4 =
23+4= 622 +3 =
419+3= 798 =5 =
706 5= 312 +3=

Fill in the missing numbers to complete the short division question.

1

4

5 7 %0

John has 728 marbles, and he wants to give them to his 4 friends. If each friend
gets the same amount of marbles, how many marbles will they get?

Sarah has 37 cookies to share with her 7 friends. If she shares them out equally,
how many cookies will Sarah have left over for herself at the end?

Tina has 64 lollipops to give to her 6 friends. She wants to give them an equal

amount each.

How many lollipops will they each get?

How many lollipops will be left over for Tina?
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